
Regression vs log(mass) slope97.5%
2.5% intercept97.5%

2.5% converted intercept97.5%
2.5%

log(Gdiff) 0.3940.504
0.232 1.3681.498

1.266 23.33431.477
18.450

nmol
sec∗kPa

log(Gadv) 1.1191.356
0.845 -3.048−2.851

−3.232 0.0008950.00141
0.000586

cm3

sec∗kPa

log
(
∆PO2(resting,MR ∼ mass0.75)

)
0.3560.518

0.245 -0.873−0.771
−1.002 0.1340.169

0.0995 kPa

log
(
∆PO2(flight,MR ∼ mass0.67)

)
0.2760.443

0.165 1.0811.184
0.947 12.05015.276

8.851 kPa

log
(
∆PO2(flight,MR ∼ mass1.19)

)
0.7960.964

0.686 1.0811.183
0.947 12.05015.241

8.851 kPa

Table 1: Regression coefficients from equations in figure 3
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